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ZA=3a, ZB=3B. ZC =3y, at+tB+y = 180° /3 = 60°
sin3 6= 3sinf - 4sin’0= - 4sin6 (sin®0 - 3/4)
(sin®0+ cos*0=1 L£V)
= - 4sin0 (sin®6 + 1/4 - cos’ 6 - 3/4)
-\ C = — 4sinf {(sin 0 *cos 60° )* - (cos B - sin 60° )7}

= - 4sin 0 sin( 0 +60° )sin( 6 -60° )
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AF AB

c c
= = . = AABC D D
sinf sin(180° -a-83) sin(a+p8) sin3 vy R (R i PRI OFAE)
at+tB=60" -y . ¢ = 2R sin3y= - 8R sinysin(y+60° )sin(y-60° )
¢+ sinf . . . o
. AF = - — = 8R sinfBsinysin(y +60° )
sin(60° -y)

FAEIZ LT, AE = 8R sinBsinysin(B+60° )
X 5T, AAEF T
EF? = AE® + AF> - 2 AE+AF: cosa

= (8R sinfBsiny)?

X {sin2(3+600 )+ sinz(y+60° Y- 2 sin(B+60° )sin(y +60° )cosa}

ZZT{)oFN sinalzZ2iuE, EF = (8R sinasinBsiny)? &7o THAD O,
© a+tBty=60" DLE,

sin®(B+60° )+ sin®(y +60° )= 2 sin(B+60° )sin(y+60° )cosa
LW, B+60° =P . y+60° = Q &£ B L,
XY sin®P + sin®Q -

2
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a+P+Q (= a+B+y + 120° ) = 180°

2 sin P sin Q cosa = sina 7O BHEL CTROEXZAHT S,
| o+P+Q=180° ®&x  ginq + 2 sin P sinQ cosa = sin®P + sin’Q |
(FIERA) a =180° - P +Q 725 sina = sin®(P + Q). cosa = - cos (P + Q)

(/1) = sin®(P +Q - 2 sin P sin Q cos(P + Q)
sin®P cos® Q * 2 sin P cos Q cos P sin Q + cos*P sin®Q

- 2 sin P sin Q (cos P cos Q = sin P sin Q)
sinP (1 - sinQ) + (1 - sin®* P) sin® Q@ + Zsin®P sin® Q
= sin’P + sin® Q = (i)
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EF* = (8R sinasinpBsiny)’

[FIERICLC. FD*=DE® = (8R sinasinBsiny)® -+ FD*= DE® = EF°
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